LB-40-2

+7(495)211-46-47
LB-40-2

Macca (HeTT0) 31.8 Kg

Buemnue Pazmepsl 430*330*350 mm*mm*mm




LB-40-2

+7(495)211-46-47
V3ea nacoca LB-40-2
[NpumeHs- [Noanuusa B
Kon HaumeHoBaHue
€MOCTb | JeTanvpoBke
11131005 |Bont wkmnBa M10x45(J1eBOCTOPOHHMI) 1 1
11124001 LLlanba ctonopHasa neBoCTOPOHHAS P 8 1 2
21213002 |lllanba ©38 1 3
21212003 |[Lkus LB40 1 4
11131004 | bonT kpennexnus M8x25 4 5
11123003 |[paBepHas wanba ¢ 8 28 6
21113004 |lNepenHsis KpbiwKa 1 7
21177005 | ®PukcaTop canyHa 1 8
21166001 [CanyH 1 9
21152003 |[[Tpoknagka nepegHen KpbILwKu 1 10
21161004 | CanbHuk 1 11
21134001 MogwmnHnk 62052 1 12
21136001 CermeHTHas LUNoHkKa 1 13
21131005 [KoneHBan 1 14
21111011 Kaptep 1 15
21169001 [[Mpobka cnvBa macna 1 16
21164002 |[Macnoykasartenb 1 17
11131001 BonTt kpennenuns kpbiwkn M6x20 3 18
11123002 |[paBepHas wanba P6 3 19
21112003 [3agHss Kpblwka 1 20
21155001  [[Mpoknagka 3agHewn KpbiLKK 1 21
21134003 |[logwmnHuk 6205 1 22
21167002 |lNpobka 3anuBa macna 1 23
11133001 Bont macno pasbpbisrnBatens M4x10 3 24
11123001 | Llanba ctonopHas ®4 3 25
21163001 Macnopasbpbl3rmsarenb 3 26
21132005 |llaTtyH 3 27
21143002 |Maney nopwHa ®14,5x57,5 3 28
21141003 |MopweHb ©65 3 29
21144002 [ CronopHoe konbuo ®14,7 6 30
21145003 |KomnnekT koneu, 65 3 31
11141001 | lWnunbka M8x35 12 32
21153001 Mpoknagka umnuugp — kaptep P65 3 33
11111002 |lanka M8 12 34
21121004 |LnnmHgp 65 3 35
21151002 [[Mpoknagka 6noka knanaHoB HKHAS P65 3 36
21124003 | KnanaHHbIlU 6ok 8 Komnnekme @65 1 37
21154001  [[lMpoknagka 6noka knanaHoB BepxHss ®65 3 38
21123003 |[onoBka umnvHgpa 3 39
11132004 |Bont Bo3gywHoro cunbtpa M8x30 6 40
11122001 |MepgHas wanba ©8 6 41
21175002 [ dwunbTp BO3AYLWHbIM B cbope 3 42
11132006 | BbonT KpbiwkM 6roka umnuHgpos M8x50 12 43
11113001 |lanka ®14,5-27 1 44
21174003 | TpownHuk 2 45
21171002 |Paguatop 2 46
21173001 | YronbHuK 1 47
21125013 |[lnacmuHbl KnanaHHbIe 8 KoMrisiekme (2um)
21125017* 1 37/2
21126002 |AnoMuHuesas npoknadka
21126005* ! 378
21177012 | [lampoH 8030ywHoO20 ¢hunbmpa 1 42/2

Y3ea Hacoca LB-40-3

3amuyacTu uMewmue oranuus or LB-40-2




LB-40-2

+7(495)211-46-47
MpnmeHs- MNo3nuymnsa B EHA
Koa ENEHIOEETAD gMOCTb JeTannupoBke I(-Ll'JSD)
11121011 LWan6ba ¢8-038-5 1 3 0,8
21113011 MepegHasa Kpbiwka 1 7 16,8
21178001 PukcaTtop canyHa 1/4" 1 8 4.8
21152001 [Mpoknagka nepegHen KpbILKK 1 10 1,8
21131013 | KoneHBan 1 14 52,4
21111026 |Kaptep 1 15 126,4
21164004 |Macnoykasatenb G3/4” 1 17 14,4
11134002 |BonTt macno pas6pbisruatens M5x10 3 24 0,3
21162002 | Macnopasbpbl3rmBaTenb 3 26 1,2
21132004 |LWatyH p30-p14,5-108 3 27
21132021* 12,8
21124010 |KnanaHHbIn 6510k B komnnekte ®65 M8 y 37
21124013* 30,5
21122014 "onoBKa uunMHapa 3 39 33,4
21174008 | TponHuMK 2 45 4,8
21171013 [Pagmatop ¢12x200 2 46 10,7




	LB-40-2 INDSTR.RU +7(495)211-46-47
	LB-40-2

